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FORUM

Every Wednesday, the Student Union 
organizes a budget lunch in the form of  
vegetarian soup at 12 in Kølsvinet! The price 
is only SEK 15 for members of the Union. 
This will give you one serving of vegetarian 
soup, including bread and coffee. The first 
soup lunch this semester is September 3rd.

Welcome days 

The Initiation 2014

The Association Fair 

Open your eyes for Malmö!  September 
23rd at 10-14 the Association Fair takes 
place at Orkanen. Mingle with and listen to 
presentations from NGOs, sports clubs and 
educational associations. Find out more at 
mah.se.

Do not miss the opportunity to get to 
know new friends and participate in a 
variety of  fun activities during the two 
Initiation weeks! The Initiation begins 
September 2nd, get the full schedule at 
festmesteriet.se

Together with Malmö University and the  
City of Malmö, we organize a welcome 
day at your faculty where you have the 
opportunity to be inspired and take part 
in a range of offerings from the Union, 
Malmö City and Malmö University Student 
Services. 

Dates for the Welcome Day at your faculty: 

TS: 4/9, KS: 8/9,  HS:9/9, LS: 10/9

You now have the opportunity to apply 
for the Student Union’s literary scholarship 
- a contribution of  500 SEK to use for 
textbook purchases awarded to three 
members. Apply before September 19th. 
More info at malmostudenter.se.

Soup lunch

Literary scholarship

The Student Union have representatives in 
all committees, groups and bodies at Malmö 
University. The Union appoints representatives 
to these committees through five different 
meetings, called FORUM. Would you like to 
have place in your faculty’s committees and 
participate in deciding which teachers are to 
be recruited, how your education should be 
structured, etc? All you need to do is be a 
member of the union, and show up at your 
FORUM.

Dates for FORUM at your faculty: 

HS: 16/9, KS: 17/9,  TS: 17/9, LS: 18/9

Union Coffee is held once a month at 
each faculty.Your student representative is 
present and you have the chance to tell us 
what you think needs to be improved at 
the university. The event may differ slightly 
from month to month. Sometimes we have 
a special theme that we focus on, maybe 
we ask you to answer questions in a survey, 
sometimes we bring a interesting company, 
and we always treat you to coffee! 

Next Union Coffee at your faculty:		
HS: 2/10, TS: 7/10,  LS: 8/10, KS: 9/10

Union Coffee


